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Reasoning and Problem Solving
Kilograms and Kilometres

Developing

1a.3,0009, 1,000g

2a. Various possible answers, for example:
60kg >7,000g, 7,000g > 2.000g,

2,000 < 60kg

3a. Beth is correct. 2 packs of srawberries
‘weigh 1,000g.1,000g is equivalento 1kg.
kg of srawberries cost £4.00.

Expected
4a. First row: 1.6km

Second row: 4.3km

Third row: 0.2km
Sa. Various possible answers, for example:
3,300m > 2,800m, 2,800m > 2.5km,
2.5km < 3,300m
4a.Nadiais comect. 1,500g is equivalent
1o 1.5kg. 1 kg cosls £2.60 so 0.5kg would
cost £1.30. £2.60 + £1.30 = £3.90.

Greater Depth
7a. irst row: 3.09km

Second row: 485km

Third row 1.15km
8a. Various possble answers for example:
4,500g > 4.05kg, 4,500g > 4,320g,
43209 > 405kg
9a. Ruby is not conect.
20 apples would weigh 20 x 105
2,100, which is equivalentio 2.1kg. 2kg
of apples would cost 2 x £1.60 = £3:20 50
21kg would cost more than £3.20.
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lograms and Kilometre

1a. Complete 5o that each line adds up
1o 8kg.
Give your answers in grams.

)

2. Using the cards below, create 3
diflerent comparison statements.

aaa
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3. A pack of skawberries weighs 500g.

2packs of skawberies will
cost £4.00
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Kilograms and Kilometres

4a. Complete the circles so that each line
addsup fo 5,000m in every direction.
Give your answer in kilometres.

5a. Using the cards below, create 3
diflerent comparison statements.

al=la
1

6a. A bag of oranges weighs 1,500g.

Abag of oranges would
cost £3.90.

Is Nadia correct?
Explain how you know.
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7a. Complefe the circles so that each line.
addsup o .5km in every direction. Give |
your answer in kilometres. ‘
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8a. Using the cards below, create 3
diflerent comparison statements. ‘
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9a. Each apple weighs 105g.

w
s Ruby comect?
Explain how you know.
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